The supplementary data (ky3061)

Calculation Method = RB3LYP
Basis Set = 6-311++G(d,p)

Charge =0

Spin = Singlet
E(RB3LYP)=-517.60718162 a.u.

RMS Gradient Norm = 0.00006726 a.u.
Imaginary Freq =0
Dipole Moment = 1.6472 Debye
Point Group = C2V

Job cpu time:

TZIZTDTITIITOOOOOOOOODTZTTITOOO0O0a0nn

0 days 1 hours 20 minutes 49.9 seconds.
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Calculation Method = RB3LYP

Basis Set = 6-311++G(d,p)

Charge =0

Spin = Singlet
E(RB3LYP) =-722.17919731 a.u.

RMS Gradient Norm = 0.00004069 a.u.
Imaginary Freq = 0
Dipole Moment = 4.3580 Debye
Point Group = CS

Job cpu time:
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0 days 2 hours 58 minutes 41.9 seconds
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Calculation Method = RB3LYP

Basis Set = 6-311++G(d,p)

Charge =0

Spin = Singlet
E(RB3LYP) =-722.14069373 a.u.

RMS Gradient Norm = 0.00005804 a.u.
Imaginary Freq =0
Dipole Moment = 4.0902 Debye
Point Group = CS

Job cpu time:
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0 days 3 hours 38 minutes 8.2 seconds
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